Calculations for the
Land Application of Residuals

     mg/l         = milliEq
  equivalent

            mg/l            = mg/kg
     mg/kg * % solids = mg/l                                                                                                                                                                                                                        % solids (as a decimal)




      (as a decimal)
                      2000 Lbs                                           Lbs                  mg/kg *             ton
           = mg/kg * .002 =   Dry Tons
               1 kg/1,000,000mg
Helpful Conversions: 


1 Acre = 43,560 ft2

1 Kg = 1,000,000 mg


1 Ton = 2,000 Lbs


1 Gallon of Water = 8.34 Lbs


1 Mile = 5,280 ft.

(gallons)(%solids)(8.34 Lbs/gal)  = Dry tons
              2000 Lbs/ton

(Dry tons)(2000 Lbs/ton) = gallons
(% solids)(8.34 Lbs/gal)

(as a decimal)

